



Tên: _____

Ngày tháng: _____ Điểm: _____

$$896,2 \times 10^{(-2)} =$$

$$10^{(-4)} =$$

$$6 \times 10^{(-3)} =$$

$$856,3 \times 10^{(-3)} =$$

$$10^{(-3)} =$$

$$364,5 \div 10^{(-3)} =$$

$$10^{(-3)} =$$

$$663,2 \div 10^{(-4)} =$$

$$10^{(-2)} =$$

$$-3 \times 10^0 =$$

$$-1 \times 10^2 =$$

$$2 \times 10 =$$

$$834,3 \times 10^{(-2)} =$$

$$10^{(-2)} =$$

$$679,5 \times 10^{(-1)} =$$

$$484,7 \div 10^{(-1)} =$$

$$-2 \times 10^2 =$$

$$10^{(-4)} =$$

$$5 \times 10^2 =$$

$$-2 \times 10 =$$